HAJEE KARUTHA ROWTHER HOWDIA COLLEGE

(An Autonomous Institution Affiliated to Madurai Kamaraj University, Madurai.)

Re - Accredited with 'A++' Grade by NAAC

UTHAMAPALAYAM - 625 533



ANNUAL REPORT OF THE CONTROLLER OF EXAMINATIONS
2023-24

ANNUAL REPORT OF THE CONTROLLER OF EXAMINATIONS

2023-24

The Controller of Examinations receives the questions for the Term-End Examinations (TEE) set by subject experts from various colleges. It is followed by the preparation and publication of time table. The examinations are conducted as per the Examination Time Table. Thereafter, examiners from various colleges are invited for central valuation. After the completion of central valuation, getting approval from the Awards Committee, results are published in the college website within 10 days of the last exam. date. After the publication of results, the students are given an opportunity to go for revaluation and get the photocopy of the answer scripts for their reference. Only UG and PG final year students are permitted to appear for supplementary examinations.

The following table shows the Examinations details for the Academic Year 2023-24

Semester	Last Date of Term End Examinations	Date of publication of results/ Award Committee Meeting	Total Number of students appeared	Total Number of revaluation applications received		
November 2023	29.11.2023	08.12.2023	2634	32		
April 2024	20.05.2024	24.05.2024	2359	23		

HAJEE KARUTHA ROWTHER HOWDIA COLLEGE

Re-Accredited with 'A+++' Grade by NAAC

(An Autonomous Institution Affiliated to Madurai Kamaraj University, Madurai)

Office of the Controller of Examination

UTHAMAPALAYAM - 625 533

April - 2024 Term End Examinations Success Rate (UG)

S.No.	Programme Name		Nı	umber of s	tuden	ts who p	assed i	n the fin	al year (examinat	tions	
	UG Programmes	Total No. of students appeared	Distinction		I		II		Ш		Pass	
			No.	%	No.	%	No.	%	No.	%	No.	%
1	B.A. Economics	54	<u>-</u>	-	16	29.63	24	44.44	7	12.96	47	87.04
2	B.A. History	30	-		9	30	8	26.67	2	6.67	19	63.33
3	B.A. History Voc.	29	•	-	3	10.34	9	31.03	10	34.48	22	75.86
4	B.A. English	49	-	_	9	18.37	31	63.27	9	18.37	49	100
5	B. A. Tamil	37	-	-	20	54.05	9	24.32	3	8.11	32	86.49
6	B.A. Arabic	1	-	-	1	100	-	-	-	-	1	100
7	B.Com.	60	1	1.67	46	76.67	11	18.33	•	-	58	96.67
8	B. Com. Banking	64	-	-	19	29.69	42	65.63	2	3.13	63	98.44
9	B. Com. CA	43	-	-	16	37.21	22	51.16	3	6.98	41	95.35
10	BBA	58	_		17	29.31	30	51.72	8	13.79	55	94.83
11	B.Sc. Mathematics	46	32	69.56	13	28.26	1	2.17	_	-	46	100
12	B.Sc. Physics	31	7	22.58	23	74.19	1	3.22	_	-	31	100
13	B.Sc. Chemistry	35	4	11.42	25	71.42	6	17.14	-	-	35	100
14	B.Sc. Zoology	31	5	16.13	13	41.93	5	16.13	1	3.22	24	77.41
15	B.Sc. Comp. Science	34	12	35.29	16	47.05	2	5.89	-	-	30	88.23
16	B.Sc. Biochemistry	22	1	4.55	7	31.81	9	40.90	1	4.55	18	81.81
17	B.Sc. Microbiology	31	1	3.23	17	54.84	1	3.23	-	-	19	61.29
18	B. Sc. Infor. Tech.	36	2	5.56	16	44.44	14	38.89	-	-	32	88.89
	Total	691	65	9.41	286	41.39	225	32.56	46	6.66	622	90.01

HAJEE KARUTHA ROWTHER HOWDIA COLLEGE

Re-Accredited with 'A++' Grade by NAAC

(An Autonomous Institution Affiliated to Madurai Kamaraj University, Madurai)

Office of the Controller of Examination

UTHAMAPALAYAM - 625 533

April - 2024 Term End Examinations Success Rate (PG)

	PG Programmes		Distinction		I		II		Ш		Total	
		Total No. of students appeared	No.	%	No.	%	No.	%	No.	%	No.	%
1	M.A. Economics	2	2	100	-	-	-	- 5	-	-	2	100
2	M.A. History	6		-	6	100	-	-	- 1		6	100
3	M.A. English	14		-	14	100	-	Ψ,	-	-	14	100
4	M. A. Tamil	8	3	37.5	5	62.50	-	-	-	-	8	100
5	M.Com.	41	6	14.63	34	82.93	-	-	-	-	40	97.56
6	M. Com. CA	19	5	26.32	14	73.68	-	-	-	-	19	100
7	M.Sc. Mathematics	20	19	95	1	5	-		-	-	20	100
8	M.Sc. Physics	13	11	84.61	2	15.38	-	-	-	-	13	100
9	M.Sc. Chemistry	10	1	10	6	60	1	10	-	-	8	80
10	M.Sc. Zoology	9	3	33.33	5	55.55	-	-	-	-	8	88.88
11	M.Sc. Comp. Science	16	2	33.33	4	66.67	-	-	-	-	6	100
	Total	148	52	35.13	91	61.49	1	0.67	-	-	144	97.30

The entire work related to examination division has been fully computerized using Flair Software.

WITHAROWTHER HOWDIA CONTINUES (AUTONOMOUS) * (AUTONOMOUS)

PRINCIPAL
Hajas Kasuha Rowther Howelle Outlage
(Autonomous)
UTHAMAPAL/IYAN-625538.